


Stückliste / Parts list / Seznam dílů / Lista części / Комплектация / 
Liste de pieces 

2

26 PRT-000459  D30

x4

29 PRT-000848

x2

27 PRT-000588

x4

28 PRT-000582

x8

30 PRT-004351

x2

1 ASM-000461

x1

2 ASM-000473

x1

4 ASM-000472

x1

3 ASM-000469

x1
7 PRT-001567

x8

5 ASM-000467

x1

6 PRT-003154

x2

9 PRT-003100

x1

10 PRT-001587

x1

8 PRT-000941

x8

11 PRT-001566

x1

12 PRT-001584

x1

15 PRT-001565

x4

13 PRT-001600

x2

14 PRT-001576

x2

23 PRT-001971

x1

18 PRT-003141

x2

19 PRT-001585

x2

21 PRT-001586

x1

20 PRT-002544

x2

22 PRT-002197

x1

16 PRT-001564

x1

17 PRT-003142

x1

24 PRT-002724

x1

25 PRT-000356  D25

x8



Stückliste / Parts list / Seznam dílů / Lista części / Комплектация / 
Liste de pieces 

3

33 PRT-002327

x2

31 PRT-001437

x2

32 PRT-001588

x6

37 D8

x12

42 M10-S

x6

36 PRT-002324

x2

35 PRT-001489

x2

41 M10

x26

34 PRT-001488

x2

39 M6

x4

40 M8

x5

38 D10

x85

48 M10 x 75

x12

49 M10 x 90

x1

44 M8 x 60

x2

43 M6 x 60

x4

46 M10 x 60

x1

47 M10 x 70

x16

45 M8 x 110

x2

50 M10x100

x2



Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

4

48
32

38

7

28

38

11

23

38

7

38

41
42

38

15

27

48

38

7

38
28

27

38

38

41

15

32

7 PRT-001567 x4

11 PRT-001566 x1

15 PRT-001565 x2

23 PRT-001971 x1

27 PRT-000588 x2

28 PRT-000582 x2

32 PRT-001588 x2

38 D10 x24

41 M10 x4

42 M10-S x2

48 M10 x 75 x6



Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

5

48

38

7

28

38

12

38

7

38

41

42

38

15

32

32

48

38

7

38

28

38

7

38

4142

15

7 PRT-001567 x4

12 PRT-001584 x1

15 PRT-001565 x2

28 PRT-000582 x2

32 PRT-001588 x2

38 D10 x24

41 M10 x4

42 M10-S x2

48 M10 x 75 x6



Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

6

19 PRT-001585 x2

25 PRT-000356 D25 x2

27 PRT-000588 x2

29 PRT-000848 x2

37 D8 x4

40 M8 x2

44 M8 x 60 x2

37

40

29

27 37

44

19
25

37

40
27

37

44

29
19

25



Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

7

8 PRT-000941 x8

13 PRT-001600 x2

14 PRT-001576 x2

16 PRT-001564 x1

17 PRT-003142 x1

28 PRT-000582 x4

38 D10 x16

41 M10 x8

47 M10 x 70 x8

41
38

8
4738

8

28

16 8 38 47

8
38

41

28

16

17

41 38
8

13
8 38 47

41

8
38

13
8

38 47

14

28

14

28



Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

845 37 21 10

37
40

47
38

38 41

47
38

38 41

47
38

38
41

47
38

38

41

10 PRT-001587 x1

21 PRT-001586 x1

37 D8 x4

38 10 x16

40 M8 x2

41 M10 x8

45 M8 x 110 x2

47 M10 x 70 x8



Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

9

42
38

33

33
49

9

38

46

38
38

42

38
22

9 PRT-003100 x1

22 PRT-002197 x1

33  51100 x2

38 D10 x5

42 M10-S x2

46 M10 x 60 x1

49 M10 x 90 x1



Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

10

5 ASM-000467 x1

6 PRT-003154 x2

18 PRT-003141 x2

24 PRT-002724 x1

34 PRT-001488 x2

35 PRT-001489 x2

36 PRT-002324 x2

40 M8 x1

41 M10 x2

50 M10x100 x2

A

35
41

34

6

18

50

36 5

40

24

36

50

18

6
A

A



Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

11

1 ASM-000461 x1

2 ASM-000473 x1

3 ASM-000469 x1

4 ASM-000472 x1

25 PRT-000356 D25 x6

30 PRT-004351 x2

31 PRT-001437 x2

37 D8 x4

39 M6 x4

43 M6 x 60 x4

30

25
4

25

3

30

43

31

2

37

39

25

25

25

43

31

1
37

39

25



Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

12

20 PRT-002544 x2

26 PRT-000459 D30 x4

32 PRT-001588 x2

32

26
20

26
26

20

32

26



Warnung Warnings / UpozornĚní / Ostrzeżnia / ВНИМАНИЕ / 
Consignes De Sécurité

13

 2
40

 m
m

 

 853 mm 

 1253 mm 

 1740 mm 

 1
73

5 
m

m
 

 853 mm 

 1253 mm 

 3
55

 m
m

 


